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;1 7910 ‘M3~ a 77233 N0 is WD as long as it is 7N2972 No30n, which means that this 7510
has to be made 7210 3 aw®.

Q: What does this mean?

2. A:2 Answers:

A.

B.

1.

a)

b)

X701 27 MR 777 w7 says that a 71010 has to be made for 9%, there needs to be a lot
of 750 put there. The 71230 may not have originally been made for %%, but for my»1x
and that would not have been enough, b/c a 11910 needs to be made 7% ow5.
Therefore, there needs to be a lot of 720 put there in order to show that the 7210
was made 2% ow>.

(1) Q: Why would it be a problem if the 750 was not put on for 7%?

(2) A:>wn says that even though the 71210 doesn’t need to be built mxn ow?, it
needs to be built 2% owY. Therefore, if the 720 is put on the 71210 for a purpose
other than 9%, it is 77077 72 9109.

(2:X 7210 W”X1) N1 says that this means that the 700 can’t be made in such a way

that rain won’t be able to get through.!

(1) The 2:3270 0™X 171 says that n”3 didn’t mean all that much in this statement -
there is no problem Xn»71877 of having a 7210 that it can’t rain into. 2”11 made
a 7171 that you can’t make 720 that’s too thick, b/c then a person will end up
sitting in his house instead of a 7210 and the 7710 says that you need to sit in a
71210, not a n°2.

(2) So according to n", if you build a 71210 that has too much 720, it’s 132771 9109
b/c you will end up sitting in your house.

(a) Q: What forced the 11 to say this?

.T0-.10 910 "N ~Inn- if a person makes his 71910 out of a haystack, it’s 7105 b/c of 21 nwyn

"y 1. It could be w2 if there was a ndv of empty space between the floor and the hay
b/c that’s an 7R. So you can then go and hollow out the rest of the haystack in order to
make the 7210 a 77Ww> 71210 and there is no problem of "Wy 12 kY AwyN.

We see that the 77 that a 71210 needs to be 10 o°rov tall is a 1°7 in the M197 and that
there is no issue of "Wy 12 X7 7wyn when it comes to the N11o7.

The 171 says that it doesn’t rain into a haystack and the '3 never raised that as being
an issue and therefore, it must be that there was no Xn>7KX7 9109 of a ;1910 that can’t
be rained in. The reason we aren’t concerned with rain coming into a haystack is b/c
it’s only a 731277 7 that you can’t sit in a 71210 that it won’t be able to rain into and the
77°13 was only in cases where we are dealing with something that resembles a house,
which a haystack does not.

1.

I'n"3 understood the :1i 7210 "1 as saying that you should not do something, namely, don’t make it so it
won’t be able to rain there, whereas "1 understands it as saying that you should do something, namely,

put a lot of 720 there.
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a)

b)
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°D 17 .2 1210 'O understood N7 as saying that a 7210 that can’t be penetrated by

the rain is XN™RT 7109, The .2 n°avn "1nn says that if it rains on MWD, it’s a 12°0

799p. Why can’t you just make your 7210 in such a way that it won’t rain there,

like by nailing the 720 down? You could say that it’s 0K to do it 13277 b/c of

770 N1 and that just as you can’t use boards, you can’t nail the 750 down. But

if that’s the case and that it’s only 7327772 710X to nail down the 720, then 2°»w3 on

M210 should not be considered to be a 7997 12°0. Therefore, if it doesn’t rain into

your 71210, it’s RN™IXT 100,

'01n themselves seem to suggest that this is only a problem 712771 b/c of N1

7770, but then they shut it down.?2

(1) So 'oIn holds that if it can’t rain into a 7210, it’s XN* IR 7109,

(2) However, the v says that according to n”9, if it can’t rain into a 7210, it’s
only 11277 7105.

.25 1910 ~ane- if you make a 7910 with thick 720, if it’s 122 a2 AWy, it’s Tws.
The X270 'D 1"IR MY says that this 71210 is w3 provided that it can rain into it, but if it
can’t rain into it, it’s 9109 b/c n"7 says that if it can’t rain into the 7210, it’s 9109.3

1.

a)

2. But the 711 says that the ¥”X1 didn’t quote n"9, he didn’t agree with him.

Q: The 2:X 7210 WK1 is the one who quotes N1, so what does the 710 mean?

b) A:2 Answers:

(1) The 2:X270 n"X "2 says that the MW just meant that in the X>20 of 11> 721N
n, the WX doesn’t mention nN". This does not imply in any way that the
w"R7 doesn’t hold like N, b/c he quotes him in the ¥°310 of 77213 and so, he
holds like him in the case of n°a 12 72w as well.

(2) But the 7:8970 "X 172 says that the M is saying that the W& only holds like
N in the X°310 of 77213, but not in the X210 of n°2 1n3 72wn. If you are
making a 7210 that was never really made as a 7210 in the first place and was
built for some other purpose and it can’t rain into it, then we must declare that
it’s not a 11210 b/c it’s like a n°2. But in the case of n°2 no 72wn, that 17210 was
made to be a 17210 and so, the fact that it doesn’t rain into it doesn’t make it
209.

(a) According to the 1”2, there is a 'm between the 710 and the WX as to
whether a 71910 that it can’t rain into is 9109 if it’s n°2 Pna 72WA.
i) According to the ", such a 7210 is 108.
i1) But according to the w”X", such a 17210 is Ww>.

(b) So the 'in between the w”X1 and the M according to the 11”2 is probably
about what the 9105 of a 71010 that it can’t rain into is...
1) A D0 that it can’t rain into is ¥3p - this is how 2 7”7 .2 7310 '010

understood.* If this is the problem, then it doesn’t make sense to say

2 /010 would probably have to say that it does rain into a haystack.

3 The 7270 '0 7" MY quotes N7 by N*2 111 72wn as well.

4010 says the 720 of a 7910 must be made XY, but the NMi57 can be vap.
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that a 7210 that it rains into is only going to be a problem sometimes.
This is probably what the 70 held.

i1) But the w”&" held that a 7210 that it doesn’t rain into is not a 7210 b/c
it’s too much like a n°2. If this is the 9109 then we can say that not
every 11210 that it doesn’t rain into is 7109. According to this
understanding there is room to say that there are cases where it doesn’t
rain into the 7210 and it’s still going to be w>.

(1) We see that there are different understandings of n"2 nu*w. But
there are other 2°1wX", such as >"w7 who disagree with n"3
altogether.

(2) The &72w" gives another answer. ..

II. R72ws= nuow - maws o Bw wnsa:

A.

;1 7910 ‘M3 a 77213 N0 is W as long as it is 7IN37775 N30n, which means that this 7210

has to be made 1210 7% aws.

1.

Q: What does this mean?

2. A:The 27n 777 X"20™ says that a 7210 must be made as a 71910, it can’t be made as a

B.

na. If a person built a 7010, but built it as a n*2 for the whole year, then it’s 7109. A

1210 needs to be built as a 7910 and not a N2 that’s used the entire year. If a 7210 is

built to be used the entire year, then it’s ¥2p and there is a problem of 1 X1 7wy

MWV,

a) When the X"2v°1 talks about ¥3p he seems to be driving at what X237 says in the 'n3
.2 100, that a 77910 that’s ¥ap is 2109.

b) When he talks about "Wy 11 X2 7wvn he seems to be saying that the 71210 is 7109
b/c it was made as ¥2p and so, it can’t be fixed.

.11 17910 '3 if someone has 2 M210, one inside the other, the inner one is not a 71910, but the

outer one is.

1.

The »% 2”& 73”7 8”207 says that the inner 71210 is like a n*2 and so, it’s 7109.
a) Here the X721 doesn’t mention the idea of ¥ap, but he says that there is a
problem of "wyi1 11 & nwyn.
b) So when the X"2v°1 is talking about 777, he is probably talking about n°2 - the
1210 cannot be like your n»2 the entire year.
(1) Q: What does >"wn think about using a 71910 that is like mw: 93 1n°2?
(2) A: w1 seems to give us contradictory indications in different places...
N9 777 w7 says that the inner 7210 is not a 7210 b/c it’s not clear that the person is
living there for m>10 b/c he lives there all year long. This is the place where this
person hangs out all the time, so it doesn’t like he’s sitting there in order to be X1’ the
mxn of 210.
a) It would seem that there is a 131277 7°7 that a person can’t sit in this kind 77210 on
nDo b/c it doesn’t look right, but 7707 11 it would be good.
b) However, there is another >"w that would lead us to believe otherwise...

C. .7.01210 'an ~inn- discusses the potential problem of using planks of wood for 720. It’s

true that 7707 12 they are o.k. to use, but there was a 77°1 made in certain cases that
prevents you from using them.
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1. Q: What was the 717°11?

2. A:2Rn M a7 omwn says that if we would allow a person to use planks of wood for his
1210 then he will say that there’s no difference between sitting in his 71210 which has
planks and his house which also has planks. Sitting in your house would be a
problem b/c the 770 says that you need to sit in a 7210 and not in 7wn 92 1002,

a) It seems from here that there’s a Xn>7IRT 9109 to sit in w3 %5 2.

b) Since there is such a problem, the 0°»21 were concerned that people would end up
sitting in their houses if we allow them to be 0°7012 7o0%.
(1) Q: Does >w1 hold that there is Rn»X7 2109 to sit in 71wn 25 10°2 or not?
(2) A:It’s aonnR mn:

(a) The R:127n 0™IR 0”2 suggests that *"w7 doesn’t accept a 7109 of X1 171010
n2. The fact that a person uses this structure the entire year is not a
problem, however, > does concede that you can’t use a N2 as a 71210, A
N2 is not a 71910, but you can sit in a 71210 even if it is used throughout the
year, b/c it’s still a 7210. When you build something with planks of wood
and you live there the entire year, that’s called a n°2 and you would not be
able to live there on N30 - this is what °X» "1 7”7 .7 7210 W7 is saying.
But if a 7210 is built as a 71210, but a person lives in it all year long, 1»
7707, it’s not a N2 - this is why N9 777 1 3210 w7 said that this 7210 is
not 77077 72 9109.5

(b) But the X:7970 1”8 X" says that there is a Rn»KT 2109 of maw: %5 2.
When it comes to 27X N210, 110 3”7 :10 3910 w1 tells us about a 9109
11277, b/c that 71210 is not really a n°a since it was not made for a person to
live there the entire year. Even though the person lives there the whole
year, it wasn’t made for that purpose and therefore, it’s only 112771 9105.
But if you built this structure with the intention of living there the entire
year, it would be Rn»7871 7105.

1) Everyone agrees that there is a problem where you reach a n°2 and b/c
of this concern 7”11 made a 0>101 N7
i1) But there is a ' regarding what it takes to make it a n°2.

5 This is the 1nv*Ww? i3, b/c he holds that in order to determine whether something is a n°2 and not a 7510
we need to look at a lot of different factors. This is what the 7:X230 1" 11”2 says in regards to the g8 1
X27n '0’s version of the wx".

¢ There are ramifications of this nwyn?. We 1°po» that if the plank is less than 4 o°rov, then there’s no
problem. However, the 0:X?70 1" ¥"@ quotes that even though that’s the 1771 72y, it’s better not to use
planks that are less than 3 o°nov, b/c then you will end up using ones that are bigger. But the 12:X%7n 2n
quotes others who say that you can’t use these planks b/c it used to be that people would only build
houses using planks that are at least 4 °now planks, but nowadays people use planks that are even less
than 4 o'rov and so, we have to be concerned that even smaller planks will be confused with bigger ones.
If this is true then it calls into question the 2°>w17° 2373 that people had to use little slabs of wood for 720.
Some of the o°1171X say that these slabs were problematic, but the other o°po1 say that using these slabs
are not a problem b/c nobody builds a house with slabs this size and so there’s no concern. There are
different stories regarding what the X" said about the slabs, but the 3711 in 2°%w17° was that they’re o.k.
and this seems to be the 371n nowadays.
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I1I1. n"o nasno2 asw - 2w No1o:

A. 17910 'A3- a 7”213 N0 1S a 013 NI10, %I N9, M2 n210 and 2’12 now. These N0 are
2.

1. It seems that the o°w31 n210 was a 17210 built by women.
2. It’s seems problematic that this 7210 was built by o*w1...

B. :on v mi- a nro, P00 and a1in that are written by 02, 0°w3, 2°1vp and others are 9109
b/c anyone who is involved in the m¥n of 1"2°5n N Wwp can write these things and anyone
who is not involved in the mxn» of 1°2°5n N°wp cannot write these things.”

1. Even though a woman is n2»n in 1, she can’t write it b/c she can’t write 1725
since she is a 7°wp 72 RY.
a) The 1w discuss whether women are mwd from the mM¥» of o n2°n>.
b) The 270 71°0 says that women are M5 b/c the M1¥n of 77N T°7 is connected
to the mx»n of nd na°n>. Therefore, since a woman is not N2> in the Mx» of n”n
she is not obligated in n”d n2°n> either.
(1) But there are those who take issue with this...

(a) The X:3»1n n7in says that there is a m¥» of N”0 N2°n> and it has nothing to
do with the mxn of n"n.

(b) The 1% 'D X"aRW says that even if the 7°m is right, women are not N9
from n"n. The 1317 771> X"A1 quotes that women have to learn about the
mxn that are relevant to them and so, even though they are not obligated
to learn all of 7M1, they do have a mxn of n"n.

(2) However, there are those who say that they are not obligated in this mxn...

(a) But the :X 127 n°2 n" W says that women aren’t obligated in the mxn of
n"n. Women have to learn the 15977 that are relevant to them, b/c they
need to know what to do. If there wouldn’t be a mxn of n"n, we would still
need to learn the M3%:7 in order to know how to do the mxn. The w17°n of
the mxn of n”n is that there’s a Mxn to learn the things that are not even
mwyn? and women are not obligated in that. However, women do need to
learn the m>%:1 that are relevant to them in order so that they know what to

75mn clearly understood that in order to be a 2m> for 1°2°5n and 111, you need to be someone who is WP
1250, They clearly understood that the word "anan1 was going on 171111 and 12°9n. Where do we see
anything about n”0 here? The o11wX1 try to figure out how we learn n”o from here.
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do. But at the end of the day, women are m™w5 from N0 n2°n> b/c they
are MMs from n"n.8?

(b) The X:3n 0" says that women are Mo from N”0 N2°n3, b/c they can’t
do it. Since it would be impossible for a woman to fulfill this mxn», she is
not obligated in it. But he says that it could be that she would obligated to
do the m%w >y mxn. But this can’t be b/c the :2° 9°11 'n3 says that it’s
impossible for there to be a mxn that you yourself can’t do, but you can
have a m5w do on your behalf. Therefore, it can’t be that women are
obligated to write a n"d, b/c it would be impossible for them to do it.

1) This idea of the n”1a is against a 'on...

(1) Q: The .n2 P17 ‘03 says that we need a P10 to teach us that a
woman doesn’t have to be 1 her son. The .12 1"V '3 says that
according to some, a woman cannot be a n?mv. So X2 AWK 577 '01N
asks, why do we need a p105 to tell us that a woman is not
obligated in 119°n, she herself can’t do it, so how could she be
obligated?

(2) A:'on answers that if not for the 2103771 n7°12 I would have thought
that a woman has a 21°11 to make sure that her son has a 7% n°13,
not that she was going to do it on her own. I would have thought

8 The 1:72 AW M20 N2 writes that someone people think that n7n is just a Mx» w7 to know how to act.
The .mo naw '»3 tells us that when >33 said "wya” before "ynwi, 60,000 0°58%1 came down and gave 2
crowns to each person in X2 oy, one "7wY1” 7315 and one "ynw1” 7213, There are 2 parts to the mxn of n"n
- there is learning in order to know what to do ("7wy1”), which both men and women are 21 in and there
is learning for the sake of learning ("¥»w1"), which only men are 21 in. If they would have said yaw1”
"mwy1), then it would have been 1 7192p, to learn in order to know how to do the mxn. In saying mwya”
"y, they made 2 separate m73p. They were 22pn upon themselves to learn in order to know what to do
("nwv1) and to learn for the sake of learning ("ynw1”). Since they said "nwy1” before "vnw1” and were 22pn
the mxn 9w and 7707 9, they were 1911 to 2 crowns. It is only the 2nd aspect of n”n that requires a N1372
7Mnn. The XD 0°173 "1 says that the P12 was destroyed, but nobody knew why and '77 said it was b/c 3"
"nN NX 021y, This means that people were not 72°1n 7702 1°272n, they did not make a 77107 M372 prior
to learning. Why is this so bad that the p"»i12 was destroyed b/c of it? The a1 121 37 171 quotes 711 11°27
who says that these people were learning 7170, but it was not important enough in their eyes that they felt
they should make a 17572 on it. The "2 n°2 explains that the people thought that n"n was only a 7¥n w35
and therefore, did not warrant a 71572, b/c the :2» mmn '»3 tells us that you only make a 7572 on the final
stage of doing a Mmxn. People thought that learning 7170 was only necessary in order for people to know
what to do. It’s true that you need to learn in order to know what to do, but n”n is not a means to an and,
it’s an end in it of itself. There is a mxn to learn 771N that has nothing to do with knowing how to act.
When a person views N"n as being a means to an end, he won’t make a 171573, but if he views it as an ends,
then he will. When people view 7710 as just being a mx» 7wdi1 and not being significant in its own right,
that causes destruction. This is where the Y271 n°2 got his idea from.

9 This plays out nwyn? in terms of 7707 M7, The 1212 "R ¥"w holds that women should recite the 372
7707, Some say that women make 771071 11272 b/c they are obligated in the mx» of n”n. This is like the
R"aRw. But the ow 7137 7IX°2 says that women don’t make a 771077 11272 b/c they are not obligated in n"n.
The ow 73%3 7X°2 quotes a 1”1 of whether a woman can be X°¥1 a man in 107 M>72 - if they are ma»n,
then they can be X*X1 men and if not, then they can’t be.
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that the woman needs to find someone to do the 7791, but the n7°1
210077 comes to tell us that she’s not required to do that either.

il) ...We see that the 1”11 is against this ‘010, b/c '01n raises the possibility
that a woman would only have to make sure that her son is not an 77v;
she doesn’t need to be involved in the mx»n Awyn, just in the end result.
So it could be that even though a woman can’t write a n”0 on her own,
she would have to appoint a "2 to have one written on her behalf.

25 73”7 '0IN quotes N7 who says that we see from this '»3 that a woman cannot tie a

292 or make n°¥°¥ either.
a) According to N, in order to create a M¥» ?W X¥oOM, you need to be 271 in that

mxn.
b) But 010 says that this is not true b/c the :7 7210 'n3 says that a 77213 N0 is W2, A

woman can only not write 2"no.

(1) Q: How would n"m respond to this? What’s the difference between 17210 and
nxx?10

(2) A: nxx need to be made ' and a 1910 does not need to be made Pw?. So
maybe N holds that you only need to be involved in mx» that require 71w,
like 0"no, in order to be involved in creating the m¥n 5w Xyon. Therefore, a
woman cannot make N*¥°X, since it requires nw?, but she could make a 1310
b/c it does not require RW>.
(a) Q:Is the requirement of 77°wp 92 really connected to the 1°7 of nnw>?

What’s the nature of the 7597 of 7°wp 12?

IV. nox°x7 u3 naono2 aews:
.22-:20 YA 31 "INK- anyone can write a B, even a p"wn. How could they write a v3, they

don’t have ny7 to write it nnw>? They can do it if there’s a 1723 5¥ 7y 7172, If that works,
then why don’t we say that this works to allow a "1 write a 03? It doesn’t work for a "1,

but it does work for a Jup.

A.

1.

T°NYT2 877 .22 577 w1 says that maybe the "3 won’t write it a 7w? and he’ll do what
he wants. But we know that a Jup is going to write the vx properly if there’s a 72w 9172
123 Sy 1

But the 10:3 w12 "2 07an7 writes that a "3 is not capable of writing a nnw? v and

that’s why he’s not 7w> to write a va.

a) Q: What does the 0”217 say that makes us believe this?

b) A::X P00 90 0773 quotes a X that the 072m1 holds that a *1 just can’t write
nw? from 291 annw 27, the 17 of Brisk. The 10:2 w122 91 07an7 says that a
T 8w has a 17 like an 0710y and that’s why he can’t write a 3. The reason a
") can’t write a 7MWY V3, is not b/c he won’t have the proper n112, but b/c he’s not
in the nwno of 7Ww5. The *13 has ny7, it’s just that he’s not in the 7w D of Tnws,

10 We are going to ignore n"1’s comment about 2717 for now.

11131 n"p 37 :an Y3 Ndon R”¥1 asks, according to this, what would happen if this "3 would then go and

convert and say that he wrote the v properly? X”¥1 says that it could be that we believe the guy and the v
is Wwo.
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which is why he can’t write the va. A 21 PR is someone who is going to do

things on his own so it could be that nX>¥n2 he would write a 7nw» va. But the

0”ann says that he’s 9109 to write a va b/c he has a 17 of an 212y who 17 5"¥
cannot create 72Ww5. Therefore, 0”73 says that the 07ann disagrees with >wn.12

(1) Q: 2 Questions:

(a) Why is it that a " can’t write 7aWw??

(b) The :an 12 '03 says that we learn from "onan31 anawpy” that certain
people, including a "3, cannot write a N"0. 212> 2X1 77 .21 NINIM '0N asks,
why do we need a P09 to tell us this, a "3 can’t write a n"0 b/c he can’t
create TwH?!?

(2) A: 713 says that according to 1793 and 257 7w 27 within the 7ann, there
is a "7 that a " is removed from the 7w D of nnw?. This is the Mpn» for that 1°7.
The 2109 of "anana1 anwpPY” is coming to tell us that when you want to make
the nwY aspect of 0"nv, the only person who can do that is someone who this
mwAs speaks to. WY is a halachik entity and in order to endow something
with nwY, a person needs to be in the 7w of “onand1 anwpY”. A woman
can’t write the nwo of 1°2°5n b/c they need to be written 7w and a woman
can’t do that b/c she’s not in the w25 of "anans an w1 and since a woman
can’t write 1°9n, she can’t write a N0 or M7 either.

(a) This is not only a "7 in 2”no '>77, but a 17 when it comes to 7MWY in
general. Any time there is a 17 of 1awY, the P10 of "anan3Y aNWPY” comes
into play.

(b) So n" says that a woman can’t tie n°¥°¥ b/c they require nnw? and
therefore, a person needs to be in the 7w1o of 7MWY in order to make them.
However, a woman would be able to make a 71310 b/c that doesn’t require
ews.

i) But 25 077 :0n P ‘0 felt that this has nothing to do with nnw? and
that it’s just that if you aren’t 217 in a certain M%7, then you cannot be
involved in creating that mx»n Hw &yon. This is anww? '0n b/c '0I0
210 91 777 .an minan felt that there was no need for a 109 to tell us that
a " can’t write a N0 and that we could have learned it from the fact a
"3 is not a 7MWY 72. We see that ‘010 understood that the 105 was not
talking about 7nw%, but about needing to be 217 in a M¥» in order to
create that 71¥n Hw X¥or in general. Therefore, the P10 of anwpY”
"anan3 is not talking about 71w, but about being 2°°11 in M in
general.

ii) The problem with this is that n”3 says that a woman can’t tie a 2712
together.

12 But the 10:2 PW1"a '25 9IRS 128 says that it could be that we don’t trust a 7 the same way we don’t
trust a "11. According to the 0an", this is not necessarily a 1°7, it could be a problem in MX°¢» as well.
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